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Xp = C - aln [-In(p)]
X=Xp
Y = In[-In(p)] X=c-aY
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P

1 1987 459 3] 0.857143

2 1988 1249 14 0252747

3 1989 1370 16| 0.142857

4 1990 728 11] 0417582

5 1992 510 4] 0.802198

6 1993 630 7| 0.637363

7 1993 914 12] 0.362637

8 1993 555 5| 0.747253

9 1993 647 8] 0.582418
10 1995 19
11 1095 19

12 1996 656 9] 0527473
13 1997 19
14 1997 19

15 1997 605 6| 0.692308

16 1998 719 10] 0472527

17 1998 1267 15] 0.197802

18 1999 2101 17] 0.087912

19 1999 419 2| 0.912088
20 2003 274) 19

21 2003 419 1] 0967033
22 2004 19

23 2004 967 13] 0.307692

24 2004 2904 18] 0.032967

F P

24 2904 18 0.032967 0.967033

18 2101 17 0087912 0.912088

3 1370 16 0.142857 0.857143

17 1267 15 0197802 0.802198

2 1249 14 0252747 0.747253

23 967 13 0307692 0.692308

7 914 12 0.362637 0.637363

4 728 11 0417582 0.582418

16 719 10 0472527 0527473

12 656 9 0527473 0472527

9 647 8 0582418 0.417582

6 630 7 0637363 0.362637

15 605 6 0.692308 0.307692

8 555 5 0.747253 0.252747

5 510 4 0.802198 0.197802

1 459 3 0.857143 0.142857

19 419 2 0.912088 0.087912

21 419 1 0967033 0.032967

“In(-In(P))
3.395533
2.385761
1.869825
1512311
1.233224
1.000421
0.797583
0.615136
0.446821
0.288136
0.135507
-0.01425
-0.16437
-0.31872
-0.48273
-0.66573
-0.88847
~1.22737
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